Money word problems

[image: image1.wmf][image: image2.wmf]I need to buy 2 new wheels for my car. They cost 10p each. 
How much will I need to pay altogether?_______         
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A mum and her baby went on the bus. If mum’s ticket cost 20p and the baby’s ticket cost 10p, how much did it cost altogether? _______

[image: image4.png]



A toy plane is 50p. Jon bought 2 toy planes. How much did it cost altogether? _______
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A train ticket costs 35p. How much do 2 train tickets cost? 
______
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Mary had to put petrol in her car. The petrol costs 

40p. Mary puts the petrol in twice. How much does 

it cost altogether? ______

A bike costs 42p. Alex wanted to buy 2 bikes. What is double 42p? _______
Petrol – 40p








